EARAROBEEIERT — 2 N— IBISH —F

2019558198 (B) 5EI£R1H

mﬂﬁ%—ﬂﬁ B12 (xwlw | lmEmml - |5 ) w8
[x&4£] 1%:310,000” ~ 2#%&:71,000”  33%&:37,000”  43%&:27,000M .~ 57 :18,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
> 4 5 | BIURF 1:39.3 1-1-1-1 | 40.4| — 5 468 | BRI (£R)
1 4 ~O—x749 54.0 (=) (+1) E(E) Hxvay
L:hE—X2—F— B:I-ILKTA BRIESS
. o4 | EBRES 1:39.3 4-3-3-3 [39.9| — 3 432 | EBEE (£2R)
2|11 | Y—F7A 56.0 (74=) (-5) | =2 h—PEE )
R:ZAXHTR B:vAY4> pliETae)
§ Y R : 4 6 | PEAED 1:39.6 1-2-2-2 | 40.6| — 1 483 | DNEERIZE (£IR)
35/5 NIy RE2TR 56.0° (1 1/2) o) | %8S
L:d—IRA1O— B:ov>NA1T7R b He HE
- - e . —6-6- - SAEL (25R)
4 o |SAT Ry THY o9 o] 1.(319).8 6-6-6-4 | 39.7 2 27) Srre
R:vv¥/ by THY BECYIA4LE— A ER
B ; = H o4 | BBHRE 1:39.8 3-3-4-5 |40.4| — 6 489 | DIEEFIE (£IR)
5 6|¥adr/—T4 56.0 (7€) o) | @R Fr—xtEVar
R:ELFAYY B:vadry [EEN e ]
= o = AEMEELA :40. 55+ 0| — £H—8 (&R
6 3 FITERIAYF % 5 ke 1 (450)8 4-5-5-6 | 41.0 4 (5_251) R
LTHIHXL TR By HILETTR (B) #AEI-FKL—Ya>@AE77
® 1—F—@EBIERL
1T=7r= (4,5),6,(1,3),2
2a=5F= 4,5,(1,6),3,2
Ja=7= 4,5,1,6,3,2
43—+ — 4,5,1,2,6,3
[ N5
B OB 4 3,350 | [ 71 K 1-4 1,110 | | B & 1-4 3,220 | | 3ER 1-4-5 1,530M
B B 4 640/ 4-5 520M B H 4-1 14,220 3B 4-1-5 34,380
1 250 1-5 210M

ABICOVWTRDTEEERROODE. TR LIV,




